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About this Document

This WIDA-ACCESS Placement Test (W-APT)™ Test Administration
Manual Scored Writing Samples applies to all grade level clusters,
including Kindergarten.

Test administrators are required to thoroughly familiarize
themselves with the samples in this document to properly train
themselves to administer the Writing section of the W-APT™. This
document should be used in conjunction with the appropriate parts
of Sections 6 and 7 of the full Test Administration Manual dealing
with administering and scoring the Writing test.

The WIDA-ACCESS Placement Test (W-APT)™ Test Administrator
Manual was prepared by the Center for Applied Linguistics.

Copyright © 2007 State of Wisconsin. All rights reserved.
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Kindergarten Writing Samples

Part A Introduction
Sample 1

My name is , :
4 FpAYSt, NO

[PartA
yright € 2006 State of Wisconsin. All nghts reserved 1 W-APT™ |
Score as correct
e Letters are all well-formed and easily recognizable.

Sample 2
My name is QO C Y\J@\'\RE
OO

Score as correct

e Even though sequencing of last letters is difficult to recognize, letter shapes

are clearly identifiable.



Sample 3

My name is -3t

oo

Sample 3: Score as incorrect.
e Student simply copied “My name” and did not write her own name.

e Letter “n” is not easily recognizable outside of context.



Part A

pig

.................... P s

(2]

AAR Stara of Wisrnnsin Al rinkbe racaned 7

Score all items as correct.
e Letters are all appropriately formed and recognizable.

e [Letters are in correct order.



Part B

Sample 1
k b
a h
s w
1\5&@
gnt

Sample 1: Score items 4 and 7 correct and items 5 and 6 as incorrect.

13

e Letter shapes are recognizable (though “s” in “sun” is reversed).

e [Initial letters in 5 and 6 are inappropriate.

10



Sample 2

k b
a h
s w
ant
Part B
pyright © 2006 State of Wisconsin. All fights reserves, 3 WAPT_K

Sample 2: Score items 4 and 5 as correct and 6 and 7 as incorrect.
e Student wrote the incorrect letter in the space for 6 and 7.

e Letters for 4 and 5 are appropriate and well formed.

11



Part C

Sample 1
'
COr VO=X0O
/
@
bo!| ruck
o e
Sample 2

,

Score all responses in both samples as correct.
e All responses are well-formed and correct.

e Response 1 in sample 2 uses invented spelling (“kit” for “kite”), but this is
acceptable.

12



Sample 3

o

Part C
Copyright @ 2006 State of Wiscansin. All rights reserved. 4 W-APT™ K
Sample 4

O (10 Q =m

- P L _ WeABTT

Score both samples as incorrect.
e Sample 3 #10 appears to be random letters, rather than invented spelling.

e Words copied from practice item (#8) should not be recopied as in #9 of
sample 4.

13



Part D

Practice

o T (1]
l;.ﬁruﬂ»!ﬂ-ﬁwﬂ:fm%
Ik WO
Tk (o T
b "!”'@"'fg}}?.}
Pl

Score pactice item as correct.

e With some effort the writing can be seen to represent the phrase “help
mommy.”

e Word breaking assists in interpreting the writing as containing multiple words.
Score item 1 as incorrect.

e Only with considerable effort can the student’s probably meaning “They’re
reading.” be interpreted

e Misspellings or missing words are acceptable, but not if word boundaries are
not indicated.

14



Part E
Sample 1

Score both items as correct.
¢ Word breaking and use of punctuation facilitate comprehension.

e The interpretation of the practice item in sample 1 (“My family is playing.”) is
easily seen.

e The interpretation of item 1 in sample 1 (“It is hot.”) is less obvious than in
the practice item, but still apparent. Missing word in the sentence (“it”) is
acceptable.

15



Sample 2

&

Lees £fomlie i in_ Yhe From.

&

lLeet foum\ie, \S bﬁ-\'\\ng Beok.

Score both items as correct.

Word breaking and use of punctuation facilitate comprehension.

The interpretation of item 2 in sample 2 (“Lee’s family is on the farm.”) is
evident, in spite of misspellings (“from” for “farm”) and incorrect preposition
(“in” rather than “on”).

The interpretation of item 3 in sample 2 (“Lee’s family is looking at a book.”)
is readily accessible.

Misspellings (“famlie” for “family”) and missing function words (“is” and
“a”) do not significantly impede meaning.

16



Sample 3

@

‘/l|

Score both items as incorrect.
e Writing in item 2 is a single word, not the required sentence.

e Initem 3 the effort to interpret the writing (presumably, “They’re coloring.”)
is seriously impeded by lack of word spacing and punctuation.

e Also in item 3, invented spelling, though consistent, deviates considerably
from standard spelling and does not assist interpretation.

17






Writing Rubric for Grades 1-12

Writing Rubric of the WIDA™ Consortium*

Grades 1—12

Level Linguistic Complexity | Vocabulary Usage Language Control
Qf\\llaarrly?itrilgolii?]egztizzge engths Cl)onsistent. use ofjust_the Has reached comparability to
Complexity in a single tightly right word n just the right that of English proficient
6 organized paragraph or in place; precise Vocabulary peers functioning at the
Reaching well-organized extended Usage in general, “proficient” level in state-wide
e . specific, or technical
text; tight cohesion and languade assessments.
organization guage.
A varlelty of _sentlen.ce lengths Usage of technical . .
of varying Linguistic Approaching comparability to
5 Complexity in a single language relateq to the that of English proficient
Bridgin organized paragraph or in content area; evident peers; errors don’t impede
ging _ . facility with needed ’ O
extended text; cohesion and vocabular comprehensibility.
organization y-
A variety of sentence lengths Usage of spemﬁc and Generally comprehensible at
of varying Linguistic some technical language all times, errors don’t impede
4 . Complexity; emerging relat(‘ad to the content the over,all meaning; such
Expanding cohesion used to provide area; lack of needed errors may reflect first
detail and clarity vocabulary may be language interference
’ occasionally evident. '
Usage of general and Generally comprehensible
Simple and expanded some specific language when writing in sentences;
3 sentences that show related to the content comprehensibility may from
Developing | emerging complexity used to ; area; lack of needed time to time be impeded by
provide detail. vocabulary may be errors when attempting to
evident. produce more complex text.
Generally comprehensible
Phrases ar.1d shgrt Usage of general when text is adapted from
sentences; varying amount language related to the model or source text, or when
2 of text may be copied or guag . R
A . content area; lack of original text is limited to
Beginning | adapted; some attempt at ) ) .
o vocabulary may be simple text; comprehensibility
organization may be . X
- evident. may be often impeded by
evidenced. arrors
ot ohunke of smple. " Usage of ighes when text s copied o
1 language; varying amounts frequency vocab_ulary adapted from model or
. ' ; from school setting and . -
Entering of text may be copied or content areas source text; comprehensibility

adapted; adapted text
contains original language.

may be significantly impeded
in original text.




Grades 1-2 Writing Samples

For reference purposes, each sample is designated by the code found below the
scoring rationale.

Example 1 Benchmarks

Score 1: Sample A

Write all about you.

o MynﬁmEIS ...... Cﬁh.& .........................................................................................

A have 0 ‘PLQ\

9 |||ketODL’7P0\f€ ......................................................................................

Write about your favorite animals.

My favorite animals are:

o Lralo
re UL

9 Plf'; Cﬁ\n ______________________________________________________________

Rationale:

This student can write legible English words, thus meriting a score of 1.

[ref: 12_PartA Bench 1A]



Score 1: Sample B

Write all about you.

0 MyanEIS ............. L ..... [~ ’61, ..................... S

9 Ihavebl@hd ............... }'. ..... - ;.ii’? ........................ OSSO

+

9 Iliketo ,,,,,,,, E‘D ................ P{_/]Z_'Z_ ..... )€“3_,’ ............................................

Write about your favorite animals.

My favorite animals are:

Rationale:
This student can write legible English words, thus meriting a score of 1.

[ref: 12 PartA Bench 1B]

21



Score 2: Sample A

Wirite all about you.

9 |h8\l&b/(1(‘l<}')//?”f; ............ e .

9 Illketor\’ .e/ ...... m}/ ...... }HQ,}')Q(“HU\?/S

it fun,

Write about your favorite animals.

My favorite animals are:

9 dndq

Rationale:

This student is not only capable of writing legible English words, but he or she
can also write in sentences, (1 like to) ride my bike becaues it fun, thus meriting a
score of 2.

The second part further shows the student’s ability to write more complex words,
such as cub instead of ‘bear’, and puppy instead of ‘dog’.

The writing is generally comprehensible, although it has syntactic and mechanical
errors in, e.g. becaues it fun.

[ref: 12 PartA Bench 2A]

22



Example 1 Training Papers

Score 1: Sample A

Write all about you.

o Mynameigj—qh.@ ....................................................................... \srrerasasuenransanErantons

9 ||Iket0_’§\n/lm ................. PO .................................

My favorite animals are:

O piyfavonis gp{ilS s 4 bigce

@ My Favohit aniMls ica sk

©

Rationale:

This student can write legible, phonetically spelled English words, thus meriting
1.

There are attempts at original vocabulary, such as swim, brare, seeyl, and daffin.
Comprehension is impeded by mechanical errors like sowag.

Although there are attempts at producing complete sentences, they have been
copied from the directions and contain syntactic errors, thus meriting a score of 1
instead of 2.

[ref: 12 PartA Training 1A]

23



Example 2 Benchmarks

Score 1: Sample A

(Re  +0 i ople

e

X
Mg \mf,h@% Ond N PULS

3

Rationale:

Comprehensible single words (e.g., apple, teacher), set phrases, or chunks of
simple language (e.g., [ like to) are used in the writing, characteristic of a score of
1. It does not reach the level of phrases and short sentences.

Only high frequency words are used (e.g., apple, teacher).

The writing is generally comprehensible when text is copied or adapted, but the
original text is incomprehensible (e.g., emgu, ong).

[ref: 12 PartB Bench 1A]

Score 1: Sample B

M( /VlroC,»H Ne.. (Wﬁé’ '
_deS¥ Stodent 9"
ék PPe  Cam

Rationale:

pre

The writing contains single words and chunks of simple language. Although the
beginning of the writing could be seen as a sentence, it appears more like a simple
combination of the words from the word box and there is no closure to this
seeming sentence.

Only high frequency words and the words from the word box are used.

Copied text is generally comprehensible, but the Language Control breaks down
shortly after the beginning of the writing.

[ref: 12 PartB Bench 1B]

24




Score 2: Sample A

I oy 2 ONPPICs,

qave hiM 1 PP s

hQW Mé’\Vlh Q ‘a

AN ¢ wey A

Rationale:

The writing has phrases (e.g., how meny, in all) and short sentences, which is
characteristic of 2. There is an attempt at organization with the logical flow of the
sentences.

General language is used (e.g., want, gave, meny).
The writing is generally comprehensible.

[ref: 12 PartB Bench 2A]

Score 2: Sample B

T UKe M EeaCher an T UKL toenEaPPLE.

nLLUKEMRGi N015a.90aL T0ch L1 -

j:ﬁ\L

/S h.amne LS MFEVRIA

Rationale:

Although the sentences are not quite “on-topic,” there are successful short
sentences in the writing.

General language is used (e.g., teacher, like, apple, good, name).
It is generally comprehensible.

[ref: 12 _PartB Bench 2B]

25




Score 3: Sample A
T H\&L +eoacher }’\ad Yow ADD)P s

The sty dent aaVe hem One,
Mole. a,nple, Now how nrany
P2 there. there s FoVe. Now,
Rationale:

The writing displays successful sentences. Although there are no expanded
sentences, the fluency of the text and the correct use of the words such as more
and now show emerging complexity, characteristic of a score of 3.

Most of the words from the word box are used and they are used correctly.
The writing is comprehensible.

[ref: 12_PartB Bench 3A]

Score 3: Sample B

My il goye_Mme  apble.

He qave a Litt —
T URe o he S%—u/oteﬁ%‘

1 don*tno how W\m\u

) {)DLQ thenw I count
Thévye dyve  less app Leg

M\x mom ocwe me SOmcamowe,_

Rationale:

There are simple and expanded sentences that show emerging complexity in The
writing.

General and some specific words are used (e.g., count).
The writing is comprehensible.

[ref: 12 _PartB Bench 3B]

26



Score 4: Sample A

My Gl Lag__ta.upl.:s 1 mve )7;7'/1_1__@

wadts,

__ore

Rationale:

A variety of sentence lengths of varying Linguistic Complexity is evident in The
writing. There is also emerging cohesion with the explanation of the situation

(Mr. Gill has tow apples.~ I give him 1 more apple.), presentation of the problem

(Would my teacher have more ~ than Iste time), and the solution (I think he will
~answer wite. More.). Emerging cohesion is characteristic of a score of 4.

Specific language is used (e.g., would, than).
The writing is comprehensible.

[ref: 12_PartB Bench 4A]

Score 4: Sample B

M(G\\ "lave, l'o.)o CLD lﬁ-’v ohO ;’f)
Aevk.- Do gowe i teacke M. 5l
ONE @ CLDD!@ on hisg d@fa/« r,@://
L 6:*‘1“‘\0\ m‘\ }‘ ¢ clesk. Hﬁ LW0b Aol&:m

ot the ngﬁs_z_mmﬁ,qaé c(oeé M“'Gmfu{,

le{t? Ar\wes M Gl how Hces apples lefl,

Rationale:

A variety of sentence lengths of varying Linguistic Complexity is evident in The
writing.

There is a variety of vocabulary used in The writing (e.g., sitting, looking, left).
Specific and some technical language is used (e.g., have ... lef?).

The writing is comprehensible.

[ref: 12_PartB Bench 4B]
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Score 5: Sample A

Al BQS two: . qf’?""‘f" '. '.’A_....q (teqdeat

%ivg h'«(h'.._-.ang mote. “She gpeg-. 45_4&_
to  her o duk.  Megil ¢q »
h ow —many does ha. have ~ now? Tt

Rationale:

The writing presents a variety of sentence lengths of varying Linguistic
Complexity in an organized paragraph. The organization and the variety of
sentence lengths are characteristic of a score of 5.

Although there is no technical language used, the writer displays the ability to use
the right words in the right places.

The writing is approaching comparability to that of English proficient peers.
[ref: 12 PartB Bench 5A]

28



Example 2 Training Papers

Score 2: Sample A

Rationale:

The writing uses simple sentences, but shows one attempt at an expanded
sentence. With phrases like one day and a little d[b]oy show facility in writing
and emerging complexity.

General language is used.

There is some confusion in person (e.g., my teacher — a little boy), and
comprehensibility is slightly impeded.

Although the writing displays strength in Linguistic Complexity, Vocabulary
Usage and Language Control, it does not manifest it at Level 3. Consequently, it
scored 2.

[ref: 12 _PartB Training 2A]

Score 3: Sample A
Mg nad ‘2 Q\P\o\!bﬂ\nm o SYudent came ond
B T

—goet WA AP\ Y ob > apples,

Rationale:

There are simple and expanded sentences in the writing.
General and some specific language is used.

The writing is error-free.

The writing is scored 3. If it were longer with more sentence variety, it would
have been scored 4.

[ref: 12 PartB Training 3A]

29



Score 4: Sample A

(AL L‘t \
W 417, Pm;L
vy .
| (i iailee. 0
or T fOFe  Adr-a
gA 5 A Y rbf
1

@\-VC .

ft howve 4

afole

Rationale:

There is a variety of sentence lengths of varying linguistics complexity in The
writing with a successful use of an ‘if’-clause, a ‘when’-clause, and the word now.

There is a variety of vocabulary used.

Comprehensibility is slightly impeded when attempting to produce more complex

text.
This is a weak 4 paper.
[ref: 12 PartB Training 4A]

30



Grades 3-5 Writing Samples

For reference purposes, each sample is designated by the code found below the
scoring rationale.

Example 1 Benchmarks

Score 1: Sample A

My School’s Rules
| 1. Do not )\u‘\ A0

Complete the

sentences with
important school rules.

2. Always __ O\ p 7[ 7L [/ T

3. Respect Al @l

4. —YO Nad

Write three more A l
important school rules. i/5. J A 1sa

6. m Ir\‘_ﬁ\‘} }Dmlif\ el

‘ What do you do if you are late to school? Answer this question with three to five sentences. |

ATY (N ¢
/ ' A
Ay o QU = r\{ (A \’)Ub /
f ' v.L-) — /V ’
/:\‘\JJ' Fr\ ‘?/a:)r m*,;‘ N (7 M
Rationale:

This piece merits a score of 1 because, while it contains writing other than copied
text, the original text is characterized by chunks of simple phrases.

Vocabulary comes from high-frequency words from school: gim, tichor, clas, and
bus.

Comprehensibility is impeded significantly by semantic and mechanical errors.

[ref:35 PartA Bench 1A]

31



Score 2: Sample A

My School’s Rules

Complete the 1_
sentences with il( 1. Donot __ 4,114

important school rules.

1€ 2. Always _povou’ )»m'e,wo/\)(

1)3. Respect _youl cLa55 morie

s Nvever soy Yoeh  wprddS

Write three more

important school rules. 5. dDﬁﬂ* 575'111 St f /f{"'ﬁ}t’SMSomeone, |

6. LiCHeNA Lo Voul tepher

) What do you do if you are late to school? Answer this question with three to five sentences. ’

o +g £ he oOFiIRSC tocet p Late 4 /e, ppnl+neq

Q0 Dboe)< to Neyur Soooen, T/ftﬁﬂbf"up tINEC_ SLipe
X0 NOUS teccche Y,

el

Rationale:

Attempts at full sentences are exhibited in the writing, thus meriting a score of 2.
The writing demonstrates a certain degree of organization and generally avoids
copying of the model.

There is general language related to the content area, such as still, ofiese, slipe,
and teacher.

It is generally comprehensible.

[ref: 35 PartA Bench 2A]

32



Score 3: Sample A

My School’s Rules

i 1. Donot YN (N ﬁ\nﬁ lgg“h[q ys at jQLOO.l
2. Always @\Q }mgr homerJorK _ex} SChoe].

Complete the

sentences with
important school rules.

Wi

ite three more
important school rules.

‘ What do you do if you are late to school? Answer this question with three to five sentences. \

1 valo the office ond Yell thewm that T need o /.'/He
paper hecayse T _am late for School Then T go to
Jr Own : I

Ime.

-—

Rationale:

This text is characterized by simple and slightly more expanded phrases, such as /
go to the office and tell them that I need a little paper because I am late for
school, which is a characteristic of Level 3. It is fluent and shows emerging
complexity with a proper use of then.

The vocabulary is somewhat limited to general language, such as talk, throw food,
and office. However, it shows fluency in the use of a modifier, such as /ittle in
little paper, and the use of a preposition, such as at in at school.

The writing is generally comprehensible, although it contains some mechanical
errors.

[ref: 35 PartA Bench 3A]

33



Score 3: Sample B

School's Rules

1(1. Do not thf\ In 5C ool

Ef 2. Always [@qf cﬂ)f v ovr / ch}\ ex .

Complete the
sentences with
important school rules.

1) 3. Respect O-H"U‘ C,\w) Ce N

Donof' : o Hwe_% adher
Imr:::esc":oﬁmies. :. DON]L Copy OHw_r Q}]\

What do you do if you are late to school? Answer this question with three to five sentences.
J '_w;-} Y= ‘0 Tewble and T hen
1 }7:\/@ +c> ch" ]ﬂ ornl and
‘T)JZV\ j: i ‘ , a\wals  Come f“ap
school cacly o then  F im
/dhi agan, T WI” ac} N D‘G/‘kﬂ{b{_
an d ?‘AM I wa )7 Neves )o{,

[ CL’H'/ ;)@ 50)7061 =YV P

Rationale:

The writing merits a score of 3 due to the emerging complexity of the sentences.
Phrases such as [ have to and the use of If... then ... are successful.

Attempts have been made to use general and more specific language, such as bad
words, copy, fight, trouble, and detention.

It is generally comprehensible.

[ref: 35 PartA Bench 3B]
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Example 1 Training Papers

Score 1: Sample A

‘ My School’s Rule
1. Do not P[Q_}/ N 7157)'; H(’,&J\/ODm& |
2. Always Puie ~odte 9y af e O

acnek
3.Respect TIE  4+€ (L \nCX,

Complete the
sentences with

important school rules.

“ 4. NC) Yo O\ho‘- T8 Yoom,.
Write three more e
important school rules. 5. N @ ‘)’O (/K ) m ’}_V)e }/O 0 l’w .

o No Ploy 1D Fpe Schol

l What do you do if you are late to school? Answer this question with three to five sentences.

YowuV 0. e To Lokné 2°30 o Yole
A¥e YourNaCome o EVHeY You o estode
trete 0 Yoo NO  @me to  Srieel Whit
Lo FoV You, YOU O~ SCK  NOo rome
ta ol F Mo wont xwith [bhe ¢ey ya
o Yol No rpohwe ond  cex oYe you malr

see. T don  Geov te sStrnoel T Qv
d. e ore.

Rationale:

Although there are attempts at producing sentences, they are not successful, thus
meriting a score of 1.

There is specific vocabulary such as sick and enter, but it is isolated within
unsuccessful attempts at producing sentences.

Comprehension is impeded throughout the text.

At first glance the quantity of writing exhibited here may seem to merit a higher
score. However, the writing is repetitive, and generally incomprehensible as a
result of many syntactic and semantic errors.

[ref: 35 PartA Training 1A]

35



Score 2: Sample A

My School’s Rules

1. Do not PLQ@/'I N 'H’\@ C‘JO@SPO(Dm
(2. Aiways R@d@ N\ Youl~ h@ ME.

.l 3. Respect Yourotn (a959

Complete the

sentences with
important school rules.

. Do vou home wolk
Write three more .
important school rules. 5. pO\ V &) -)’eﬂ Lhiol)
1 ‘ ‘ |
. [ L/ - - (Il
l What do you do if you are late to school? Answer this question with three to five sentences. ’

Lihate My eok¥ +o0 my (lgesroom,
-T-Hm%@ My ook bad. fomy lokel
1 feade n Yhe (lass room.

I Yoy odenChion +o tbe +eadies.
IPlay N RecSes whit my eriendS.

Rationale:

While full sentences are exhibited in the writing, they are simple, of all the same
length, and all begin with “I [verb]”, thus meriting 2, and not Level 3.

This student demonstrates an attempt at more complex language, including words
such as loker, atenchion, listen, and reases.

It is generally comprehensible, although it contains many distracting mechanical
errors, such as thake and estaf.

[ref: 35 PartA Training 2A]
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Example 2 Benchmarks

Score 2: Sample A

Now write a paragraph of at least 6 sentences describing how Martha solved her
problem.

Matho  Salved  the ploglerm by m«gsherum
gnd _a__papef. She  pyt huAlbey grie:-
SR Tulgh, and numb three on +he
_poger- __Then . rche meShered the
Letgth, Then he MeSVIerd the
undﬂl 1 i

Rationale:

The writing displays the writer’s ability to write in short sentences. There is not
much original text and there is some repetition (e.g., Then she meshered...). Lack
of original text and repetition are characteristic of a score of 2.

Only general language is used.
It is generally comprehensible.

[ref: 35 PartB Bench 2A]
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Score 3: Sample A

Now write a paragraph of at least 6 sentences describing how Martha sp_lvgd her
problem. S :

0\1 %\\\QX» ' 7720\’)@ B éo\\l?.a

Yoo ' P\—o\o\ VAN \03 LSy« h&
and putking Yhe mgurment on o chod

5}\2, ’ nr:::\*i \(‘3\.(& o the Meu rime n
e \e,ng’H\ Yhe M\'_Q@\_M
5 [’\p used o ruler Ao
N SyTe, SO, PEAN i /{)n& zhe
ciccled e ane. WX Yvod
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Rationale:

As required for 3, there are simple and expanded sentences (e.g., She circled the

one that had something bigger.) that show emerging complexity used to provide
detail.

General and some specific language is used (e.g., mesure, multiply, circle, ruler).
Lack of needed vocabulary is evident in some places (e.g., use of stuff and one).

The writing is generally comprehensible.

[ref: 35 PartB Bench 3A]
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Score 3: Sample B

Now write a paragra
‘problem. - '

Mothe  can cave he v W@é@m
by _walie, TC o he pan- 2l aus
which _ovie fr.  the i b~ ppe
—4’-#\%_./%# Qo) (e 75/46}70 -
wethenN T L She <L/ narl /-
Cind — e, f”@%%’ Q€. Fleep
Mo/ g 00Ul picP One 2o
Ghe 1hiiks J&, goog 4Py
Qll _hev” £,5.05 Vazys7bazs™
Ao tank pud)ley— ctr e .

the Jhte ot i1 A Leelers

“he |G probable, %%g%&//é
nambey one.  betpss e Zle
+hinke. S .8 Ahe /@’f&éﬁfl

ph of at Ieast 6 sentences describing how Martha solved her

Rationale:

There are simple and expanded sentences that show emerging complexity in The
writing (e.g., If she can’t find out which one is the right one, then just compare

them; She is probably buying tank number one because she thinks it is the
largest.).

General and some specific language is used (e.g., measure, compare, in the lead).
The writing is generally comprehensible.

[ref: 35 PartB Bench 3B]

39



Score 4: Sample A

Now write a paragraph of at least 6 sentenoes descnbmg how Martha solved her
problem

S ¢!
He tanks,. Ohat she. oid Ot (s el
2\ne mue o number Yo bhe dance and Hen

mr\i-@ t\' oNn_o mec,e mc pg@er Negt, SM

lona it is . Thenq, @\r\e \

A@re,r Hot qhe meuser the he\ahf»
E;mll%, she multbipli the lan#ch width
and_ReiohY . For Yonk | v wad” 124 Gor
tonlc 7 i cnas 42 €or tank 2 4 eas
0%, Se tane \Jc; Pne Iaraes‘rOF fanlc 135

Rationale:

As required for 4, a variety of sentence lengths of varying Linguistic Complexity
have been used in The writing. There is emerging cohesion; there is an
introductory sentence and the student used transition words effectively (e.g., first,
next, then, after that, finally).

There is a variety of specific vocabulary (e.g., meuser, piece of paper, multipi).

Although mechanical errors can be found, the writing is generally
comprehensible.

[ref: 35 PartB Bench 4A]
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Score 4: Sample B

Now write a paragraph of at least 6 sentences describing how Martha solved her
problem.

Mok Ha_ drely) oo chout and eosived
e kS With oo \ned shick,
- She  wiete haw bwc:\ o Shovt+
ws, On “he Chokt “che drew lnad

an *f‘bD of -H\e C\\OJF’\‘ Wh&f\
mensvey e /Wﬁ u}rd+havﬂ
Mgt she  woag rvmd\i %0 see uuxm-
\l{\h’_ s LU WS , \ o . |1
I+ she got IQH‘ qés M}d ;OH"’
The  Arst one  was  +he st
which Wwas 4 NEFE

Rationale:

There is a variety of sentence lengths of varying Linguistic Complexity (e.g.,
When she measured the length, width, and height, she was ready to see...).

Specific and some technical language is used (e.g., measure, yard stick, multiply).
The errors in the writing do not impede comprehensibility.

[ref: 35 PartB Bench 4B]
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Sc_ore 5: Sample A
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Rationale:

As required for 5, the writing has a variety of sentence lengths of varying
Linguistic Complexity in an organized paragraph. It has a conclusion sentence
(That’s how Martha solved her problem.).

Technical language is used (e.g., graph, record, information, formula, determine).

The writing is approaching comparability to that of English proficient peers;
errors don’t impede comprehensibility.

[ref: 35 PartB Bench 5A]
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Score 5: Sample B

Now write a paragraph of at least 6 sentences describing how Martha solved her
problem. '

Moctho wode o chath, She (Yol Ywe wortlS 4ok, ien ERN
WA, b g and volume Then she syafded mesug Lng
AR 40 RS and §illed gul Ahe chay B AY dhe end
she m«(\'\:agi:e& e wumbers W £4ch \ow, She woond

Lw Yo (ow otk wers hew Shé S;;caun%‘ orvix the
voluwe o0& each %K She (coked o¥ xhe chorl
and woniced Yank V was Ane \0:33525‘} becagse  hank |
iad  Xhe \n“\3993¥ numbe . of voluiye,

Rationale:

The writing has a variety of sentence lengths of varying Linguistic Complexity in
an organized paragraph.

Technical language is used (e.g., fill out, row by row, notice).

The writing is approaching comparability to that of English proficient peers.
[ref: 35 PartB Bench 5B]
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Score 6: Sample A
Now write a paragraph of at least 6 sentences describing the how Martha solved her
problem.

Mondha  dopifed dr veoded + wesspre He  wluwe of

ciae Db ke W ogvdie by Bd ot wiiebe aee o e laert,
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Rationale:

As required for 6, the writing has a variety of sentence lengths of varying
Linguistic Complexity in a tightly organized paragraph.

It consistently uses just the right word in just the right place.

The writer has reached comparability to that of English proficient peers
functioning at the “proficient” level in state-wide assessments.

[ref: 35 PartB Bench 6A]
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Example 2 Training Papers

Score 2: Sample A

Now write a paragraph of at least 6 sentences descnblng how Martha solved her
problem

First she wrote the tenatly it hia m

and, Vo lhme, Nexi’ §kfe., Mesule A0 € Lour +l.m |
Wﬂ She, Teror ' ]

cﬂiz the one< 1 Yk | Tank?, and YonkR 3,
5 ' o ure
- 1h ou_Wanl f‘.

Rationale:

The writing has short sentences but there is some attempt at organization with the
use of transition words such as first, then, and after that.

General language is used. Lack of vocabulary (e.g., things for dimensions, time
for multiply) is characteristic of a score of 2.

The writing is generally comprehensible when limited to simple text.

Although there is some attempt at organization, vocabulary and Language Control
do not merit a score of 3. The writing is scored 2.

[ref: 35 PartB Training 2A]
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Score 3: Sample A
Now write a paragraph of at least 8 sentences describing how Martha solved her
problem. :

!

T .
She, ot C\’@m dhe  Lich tanks

o U5e  beard.

Rationale:

Although repetition (characteristic of 2) is evident in the writing (She measured
...), there are simple and expanded sentences (e.g., She wrote all the answer that
she got from the fish tanks on the board.).

There is a variety of vocabulary (e.g., mesured, board).
The writing is comprehensible.

Although the writing appears to be simple, it is beyond 2. It is scored 3 because of
its clarity and variety.

[ref: 35 PartB Training 3A]
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Score 4: Sample A

Now write a paragraph of at least 6 sentences describing how Martha solved her
problem. ' ‘ '

Tirsk  dhe used We toble Yo gneke o 1sh
Thow  qhg Yool o wler o wasoce ‘e
*ﬂ\'\\'\&! Lok e louwd o the 1 Vaeh \OF 2 & o
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v ooy Wi o G Velahd . [hou che
weeoced e 2 Yok which wos €0 in |E\A3kg
p B v wdth e leod u bkl Tlay
e, woltplied Yo Gestdank ol oe¥  le /4,
Se %kng wek Yo the uvext epe W\A{erquL.1L\gh
Ve last ot wel leedt Mol ems 1o 4. Wk
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eowes Yue ek

Rationale:

There is a variety of sentence lengths of varying Linguistic Complexity in the
writing, as required for 4 (e.g., She masured tank 1, which was ...).

Specific language is used (e.g., table, masure, multiply, last but not least).
The writing is generally comprehensible at all times.

The writing is scored 4. If it were not for the apparent repetition in the sentence
structure, it could have merited 5.

[ref: 35 PartB Training 4A]
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Grades 6—8 Writing Samples

For reference purposes, each sample is designated by the code found below the
scoring rationale.

Example 1 Benchmarks

o Write a list of countries you have learned about.

Countries | have learned about

Loos

Neld Torld
"ﬂ’\(,\\ \AV\A'

g Complete the following sentences about your favorite country.

My favorite country is %\\.O\ V\d&
| liked learning about this country because ’(\r\‘&. N\ \/CU'\C;\ \'\.DU:.
O \cf‘( - C Pe oﬁ -

L

9 Write some more about your favorite country. Write 3-5 sentences.

T \\ked Veavmda o WDLY Tacd Lawd
{}ccc\usfc '\"«cA e A T,J\aoook WAL ce
e \\&0‘\ uoaci?\ e \\n3 o

l
Rationale:

The student demonstrated the ability to write in full sentences, thus meriting at
least a score of 2. However, most of the text has been copied from the directions.
The length is not sufficient and there is not enough detail to merit a score of 3.

There is general language such as a lot of, people, and liveing.
It is generally comprehensible.

[ref: 68 PartA Bench 2A]
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Score 3: Sample A
4
o VWrite a list of countries you have learned about.

Countries | have learned about

“Mexico
China

~Esfpt

S i

9 Complete the following sentences about your favorite country.

My favorite country is Mexico

| liked leaming about this country because _ T 1 06S  hevn Tt

Write some more about your favorite country. Write 3-5 sentences.

T like  mexica Decovse Y e o oud G
re\\%m.Y olso ke 4 dances  annd  y\ae

Rood ex-in fi"f\ou%\\ =0wWNe Cuod s G Litte
e I Shll Awe b, T alse ke

Merice \occmsc \u\k« ?rq‘m\[v.“ V& el g

Seoypa oie) & mn-wg‘m\ Rave! va Hher. —Pm% 1<, UJ\(\\/!_ 1

R .
HAR  ynexw(,
Copyright @ State of Wisconsin. Al rights reserved. 3 Screener. Module 2: Writing Grades 6-8

Rationale:

The writing has an emerging complexity and provides details (religion, dance,
food, family) to support the main ideas, thus meriting a 3.

A variety of vocabulary is used, such as religion, dances, food, and spice.

Comprehensibility is not impeded significantly. However, there are mechanical
errors that prevent it from meriting a score of 4, such as buitful, religon, spice (for
‘spicy’), and their (for ‘there’).

[ref: 68 PartA Bench 3A]
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Score 4: Sample A

JRERE ‘?-Conintﬂes i have isamed‘ about‘ 1.
China
Germgny'
-_.R(Jssicz
_Thailand
JD«DCH\-\ _—
_Aufralia -
‘BY'CL?_;\ -

My favorte country is ’['hm[qnd_ L
) lied leaming about this country because Thailagnd Jm:ﬁ 3

L like earning alooyt 'T_hdi‘lnbd beCoQuie it

masS where T Was boen. T wapd 0 1earn
QbOue W becawle all +he, penpie. vAQt WEre,
there  yere WMy mother’s rtlm—iwe& T m_my
moYher _that one d.cy L will go ouer. Aherc
aed _meed Thailand penple. She. was proud of nie
Thal's ’

Gopyright © State of Wisconsin. All rights reserved. . 3‘ \ SGEE?EFMMUBZ‘VVIMGWS—B
‘H\(ﬁa G My famity,

Rationale:

This student demonstrated the ability to write in a tight and cohesive paragraph.
The writer provided sufficient details to clearly support the main idea, thus
meriting a score of 4.

There is specific and technical language used, such as Buddisomes, and relatives.
There are few errors that impede comprehensibility.

[ref: 68 PartA Bench 4A]
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Example 2 Training Papers

Score 2: Sample A

Countries | have learned about | .
| Chw _
s o e
e |
(‘mwﬂ
’\"‘"P ’
o |

§ Conplete the follswing senteees ahoot vl

My favonte oountl‘y is @f‘ "

| 1liked leammg aboutthls uountry because lew- hed H.s c';n.--& Civern
. . = By

A Ve Ohe beonitfl.  dheres sfs of  ¢po| salnas !.-‘kq

dt great  wel  eb  Ohine Thare. e L O et

Siote e Plfhec,

Rationale:

The writing demonstrates the ability to write in sentences, thus meriting 2.
There is general language used, such as cool and clothes.

It is generally comprehensible.

[ref: 68 PartA Training 2A]
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Score 3: Sample A

o YWrite a list of countries you have learned about.

Countries | have learned about

U.s. A,
Mexico

Conada

Chna
Thiatand

Laos

590&&»{\

Lrance

Complete the followirg sentences about your favornte country.

My favorite country is _C_ QA1 ada

| liked leaming about this country because Cavdar s a copl p\%ﬁ.

Virite some mare about your favorite country VWrite 3-5 sentences

Canada s not  hot 4n west  places, Haw
Weapttvl  onmals and \and . The hgw
very wice looking _}i\ufo}t‘ng L \ike hew
the  Sometimes tyavel nh bpsh planes.

Rationale:

The writer provided details to support the main idea, thus meriting a score of 3,
but it lacks cohesion, which would be required for Level 4.

There is a variety of vocabulary used, such as hot, beautiful, animal, land,
building, and bush planes.

It has some mechanical errors, such as the (for ‘they’) in the last sentence, but
comprehension is not impeded significantly.

[ref: 68 PartA Training 3A]
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Score 3: Sample B

tries you have learned abaut

Countries | have learned about
AushQlia
M % O
COnad &
RrG=z )
Ching

9 Complete the following sentences about your favorite country

My favorite country is C-h ! Y‘WO\
1 liked learning about this country because _ =t 5~ 510 ard RyH Puf {

rite some more about your favente country. Write 3-5 sentences

T Lived leurmna abour  AaiQ becdo&:

e $ GOk QOF L ¢ L&[J S G \Dfe%\\
all biding . Fven S 100K Dr ety
Wwith alor o¢ peopie 9oing mack and
Lot OV R Ry T waﬂ% Yo

Q@Yt{:\@d noww  *+o Speack i Heip
[GIhgLr S8,

Rationale:

The writer succeeded in providing details to support the main idea, thus meriting a
score of 3, but the paragraph is not otherwise very cohesive.

It shows a variety of vocabulary such as bilding, back and forth, speak, and
largerss (for ‘language’).

Lack of Language Control as exhibited by syntactic and mechanical errors
prevents this from meriting a score of 4.

[ref: 68 PartA Training 3B]
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Example 2 Benchmarks

Score 2: Sample A

Write at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

;'Hls P 3 y 2 Starp s A d 2

uh' i/ fake o /003 /gm;' /4( wou !l o
+a 4 4 skt Fite, S Lams' lag

_lm /’S ,pﬂﬁé’( 7 Oy ,hz_:_'ﬁ'/‘f
—_— 2 S e
Rationale:

The writing has short sentences, characteristic of Level 2.
General language is used (e.g., perfect, simple).
The simple text in the writing is generally comprehensible.

[ref: 68 PartB Bench 2A]
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Score 3: Sample A

Write at least 8§ sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will he more accurate. -

N o\ dheese Kl is dea even
3<\r\p)\)a\r\ L k!\A fbg\- Anaclew be cadse
X\M a\(\é tﬁo[x. UOU V\-Q,EJ ’v;u}axa\f\l—
NS 5mw ﬁ?('jsﬂ\'e Lm,‘}v NPT %»M- Lke
6719‘5\'“ W@Ql_:ﬂ /K\l\r NQ)\ 3 Xanle ﬁaS?EF
MJO\M o eeXmpre S ’rb do

\,..n)d\ AL\'( SN :\’k\‘; (S N O\d\]QV\'}G\‘A)'(’
\wm,oa-e, ) Aon)— nee d Mo \mxle,

_@mex\mgg o0 Ad Anuxiing ook |

(61‘3(\{"

Rationale:

As required for 3, there are simple and expanded sentences in the writing with the
use of an ‘even though - clause and a ‘because - clause. You can also see
emerging complexity used to provide detail.

General and some specific language is used (e.g., tricky, weight, estimate, count).

Although the writing is generally comprehensible when writing in simple
sentences, comprehensibility is impeded in more complex sentences (e.g., ...
tricky because the girls idea, you need to weight it.).

[ref: 68 PartB Bench 3A]
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Score 3: Sample B

Wiite at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

e rmoe occowke O\T\ﬁchc\’\ v (\(*hm\\(}L\fD
\DF{"{\O fele U\E\m Coul Qx@i k\\& ('CRKS\\ VQQ\\\&
fosy by n&\\\f\(& Geedines one Naod &
@m&\u e S Soven . feo o doeo dl oS
Lhok S\\ﬁ SOS N ‘Q(\C{\Q‘\R b@@;
o0 QG Acoﬁ\ 4 noapee of CJDQ\Q}\\'
\OL& ANE oMPEs  on re‘.\\u ot ans .
g(\é\ OO D&\\@ (\){*\‘DD'(‘ C\{"x\\“\ (\QBQ LO\&\
S SN ITh) oo s Nae nom\o ar
e QQ‘\\& DS v Oy \QBE‘(‘.

Rationale:
The writing has simple and expanded sentences.
General and some specific language is used (e.g., accurate, exactly).

Comprehension is impeded from time to time due to the lack of precision and
misuse of vocabulary (e.g., torn for divide, using one and it without the
antecedents).

[ref: 68 PartB Bench 3B]
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Score 4: Sample A

Wite at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which onhe you think will be more accurate.

arsaier sinde Me -bea s csott o @) &:aﬁézzm
s ol Sc {r‘)(dl"\[} QM" C/ym/‘l{ S dabnw(‘/\
oS poaf A see t she pagd used
£l £y - catlesslabion £y salve hee pobleg Ao
m /f@ papclctep Han Al dors l/ id

i

2.5 [,,«:, ) / S A{?aﬂ’wﬁf’h m;// be /ézrd Lo
Mombaper alnk ok %;(\Sif.

Rationale:

As required for 4, there is a variety of sentence lengths of varying Linguistic
Complexity in the writing. There is also emerging cohesion used to provide detail
and clarity.

Specific and some technical language is used (e.g., positive, scatter, calculation).

The writing is generally comprehensible and errors don’t impede the overall
meaning of the writing.

[ref: 68 PartB Bench 4A]
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Score 4: Sample B

Write at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

T Ak Jl\o}c Aite apeeue ch e Veler 'ﬁl\t.
odvantage 1 that wou can do alt {hed in your
heool bub Yhe quc{d&n-\-&gﬁ. ce thod umy mag.
bhe ofl by e Couple of selly beans, Camila's
Q‘?}‘J;DMUO«L s ot bed Lot all Mot ec\mfgg,\n%

ten  bede o deel o€ fine Yok g g

oin adlvemdear | Tle advantose e Mok you
Con olmost gd' We Phse numbe,r.

Rationale:

There is a variety of sentence lengths of varying Linguistic Complexity in the
writing. Emerging cohesion is seen with the logical flow in the paragraph
(comparing and contrasting).

Specific and some technical language is used (e.g., calutating [calculating], prise
[precise]).

The writing 1s generally comprehensible.

[ref: 68 PartB Bench 4B]
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Score 5: Sample A

Wite at least 8 sentences comparing the two methods. State advantages and disadvantages for .
each. Explain which one you think will be more accurate.

e heta ot e S abach e

wQ\O\h 0¥ H {fmp’m ar she w\\\ get e

; \ i b\Ld‘

\ne GackS | cmnhnq al\

0. T My mess. uw he (il M+ac§t’F\5€r-€ﬂ+
nGwer Anak 1S Y*O\-cmnmﬁbtw(‘ﬂi&_
Thedly, Coinla_bhag nee p\am more well
oXder because M says he Wil counk Yae
loders o 4o otvom. Fnally, ac o cesuit

Camile's answer Wi e closte thap Ali's,

(arfillg \S ut'thing euervMM douon and Al

15 we -y think is TFT had

1 A6 the samé T would use Camila’s opproach,

Rationale:

As required for 5, the writing displays a well-organized paragraph with
introduction (First, I believe that using Camila’s approach would be the best one
to use.), body, and conclusion (If I had to do the same I would use Camila’s

approach.). There is a variety of sentence lengths of varying Linguistic
Complexity.

Technical language is used (e.g., subtract, confuse, in order). The writer shows
evident facility with needed vocabulary.

The writing is approaching comparability to that of English proficient peers.
[ref: 68 PartB Bench 5A]
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Score 5: Sample B

Wite at least 8 sentences comparing the two methods. State advantages and disadvantages for

each. Explain which one you think will be more accurate.

F thib thot e mor cauet cpprooch weuld be
i 0/)7/495”../[ S irls Lt b5 Looplt! e Lhe most QG s de
@%Mﬂd%amﬂ%w; ake_i0 fh jal.

Yoy oo b 4o do it 1ok bk /Wxxy?’ﬂ'/ Y IS e
/

£

Stuee 3 ndw { how ?

Loans a1z %y-f///, 7 o ézg{ 2ad #7 Mag@{@@ﬁ

’ s T M

@z‘j%mum_{%a‘z? {o b cmt_ia op %fg otbes

o/ not oot 5
) /] ;

%Lﬁ&%@o Jnld Lreit.

Rationale:

As required for 5, The writing displays a well-organized paragraph with
introduction ({ think that the more accurate approach would be Camila’s. ), body,
and conclusion (The most accurate way of doing it is Camila’s way, even if it
takes you more time.). There is a variety of sentence lengths of varying Linguistic
Complexity.

Technical language is used (e.g., accurate, complicated). The writer shows
evident facility with needed vocabulary (e.g., pile, in [on] top of the other).

The writing is approaching comparability to that of English proficient peers.
[ref: 68 PartB Bench 5B]
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Score 6: Sample A

White at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

14 T weve gt this fair +the mast likely
ODYG‘&(&\ 1 would use | would he Camifa's
aporoao\n T decided 4o use +h/s approach because
ms’reod o‘F Counting +he !6”\1 580?}5‘ Camilg
uéed weight nnd I"ﬁlﬂd +ha+ way +0 be mere
0.CouYate. JA\x oy aoproach had many -ﬁaWS‘ bhecquse
theve gre servol ,HP beans in +he middle
that he did nni’('mm‘f‘ urnlike Comila. Ttako
My be_hard for him *v decided where +he layers
\'Q becouse not every ,e\)v bean /s in Qg
perfect row- Lomila's amproad? is much more
S{I\Qﬁ'\" 'F!C OlnC\ T pred;c-}' +hat C'am;/a woud
guess the yight Oszm=ff%'o{j;‘€/lf Leans,

Rationale:

As required for 6, the writing has a variety of sentence lengths of varying
Linguistic Complexity in a single tightly organized paragraph.

The writer demonstrates the ability to consistently use just the right word in just
the right place (e.g., most likely, flaw, scientific, predict).

The writer has reached comparability to that of English proficient peers
functioning at the “proficient” level in state-wide assessments.

[ref: 68 PartB Bench 6A]
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Example 2 Training Papers

Score 2: Sample A

White at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

2 W\ choose Mg Ar@gz ch
_becnage 74 s er- 4o do.
' 0o e ey fﬂ)(ﬁ and Cinesh

e Yhew cdmalla’s Approck.
efs 75 the haresi 7 5
o \rw(d* ‘Q;f e thal vu'.k‘/t
u-p*(‘aﬂ\ A f (__)044.{ -{,f\wt\—
. that j=  tre hond
e RV i< ey thn o)

Rationale:
The writing has simple and expanded sentences.

Only general language is used (e.g., easier, faster, hardest). Lack of vocabulary is
evident (e.g., stuff, that won [one]).

Comprehensibility is often impeded by mechanical errors.

The writing has a rather good beginning. However, toward the end, Language
Control breaks down and does not support a score of 3. This is scored 2.

[ref: 68 PartB Training 2A]
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Score 2: Sample B

Write at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.

T PICK | Covxg,_AmGen
\eoos 15 90N Taate. ety

Rationale:
The writing is comprised of one expanded sentence.

A specific word is used (e.g., reasonable), but there is not enough writing in order
to determine the writer’s ability of Vocabulary Usage.

The writing is comprehensible.

Although the writing is easy to comprehend and appears to have a potential to
merit a higher score, it is too short and does not provide ample evidence. Thus it
merits a score of 2.

[ref: 68 PartB Training 2B]
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Score 3: Sample A

Wite at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think wili be more accurate.
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Rationale:

There are a variety of sentence lengths of varying Linguistic Complexity. Also
there is emerging cohesion used to provide detail.

General and some specific words are used (e.g., broken, confused, mixed up).
However, lack of needed vocabulary is evident.

It is generally comprehensible, but some parts of the writing are not very clearly
communicated (e.g., Some disadvantages are he would get confused how will he
know the layers they are mixed up...).

The writing is scored 3, rather than 4, because of the lack of needed vocabulary
and due to the lack of control that makes some parts less clear to the reader.

[ref: 68 PartB Training 3A]
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Score 5: Sample A

Write at least 8 sentences comparing the two methods. State advantages and disadvantages for
each. Explain which one you think will be more accurate.
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Rationale:

As required for 5, the writing has a variety of sentence lengths of varying
Linguistic Complexity in an organized paragraph.

The writer demonstrates facility with needed vocabulary.
The writer is approaching comparability to that of English proficient peers.

The writing is scored 5, rather than 6, due to the lack of cohesion and due to some
inaccuracies. If it were more cohesive (e.g., using transition words) and better
controlled, it would have merited a score of 6.

[ref: 68 PartB Training 5A]
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Grades 9-12 Writing Samples

For reference purposes, each sample is designated by the code found below the
scoring rationale.

Example 1 Training Papers

Score 1: Sample A

Event suiachi the suvls
mportant inormatien | |12 iA bvizads
about the event. When 7 bedS da )/ 4 0o me
Where 1S sy houSe
Other information | ¢/ 1/ Rousm ;'S 24 %
MEXI O

M CouSsa 1S %92731 MEX 1 Co.

/"% Viey GO0, 720 29V bot)S T

iy bethio < Thu Sy G < oolr

Now write a note
inviting a friend to this
event. Write at least
four sentences.

Rationale:
Most of the text is copied from the model, a feature characteristic of Level 1.

Original text is limited to simple words or phrases, such as whiachi the muvis (for
‘watch the movie’) and Mexico. The text does not demonstrate the ability to write
full sentences, which would be required to merit a score of 2.

Syntactic errors in the text impede comprehensibility.

[ref: 912 PartA Bench 1A]
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Score 2: Sample A

(1) Event "\30;«\% 0\ bra¥har ,be{
First write down the Who 4o my Tpor C@u"aw«é
important information
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LY
O R,
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ot CloeQvry, I mpild You . A d
S Wana %ﬁl.m Coneg . fO M RO

af oy \erolrer,

Rationale:

Most of the text is either copied or adapted from the model. However, it is copied
or adapted appropriately, which is characteristic of a score of 2.

General vocabulary related to the content area is adapted from the model and used
in the writing, such as party and invited, but the text shows some lack of specific
vocabulary.

Syntactic and mechanical errors somewhat impede comprehensibility of the
original text.

[ref: 912 PartA Bench 2A]
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Score 3: Sample A
Event bston 4o Mo 4'0"0,“”{ a9y rw .

First write down the Who ) ‘ﬂw‘,k

important information

about the event. When é@qj@{_ at 7:00Pr1.
Where A wd hase.

Other information l’ol é}e +o )wo[ed <nall 5lmd
o wf  bidod
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Rationale:

The sentences in the original text vary in sentence length and show emerging
complexity used to provide details. The lack of repetition in sentence structure
and detail provided are characteristic of a score of 3. However, it is not elaborate
enough with enough details to merit a score of 4.

Specific vocabulary, such as birthday party and listen to my show, provides detail.
More examples of specific vocabulary would be necessary in order to merit a 4.

Errors do not seriously impede comprehensibility.

[ref: 912 PartA Bench 3A]
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Example 2 Training Papers

Score 2: Sample A

Now write a note
inviting a friend to this
event. Write at least
four sentences.

(1) Event O 0o N Meg coonlN
First write down the Who 0 Toeads
important information . -
about the event. When Qrd&u ol (0.00pm
Where ()\X OOOTCO

Other information

0024 M friends

Deos For\o

27 e\ tou YO Meo ynoweS on {rfdcq

at G.oopm. all of ovk friends arc

Rationale:

The copied and adapted text is used appropriately. However, it does not provide

lorrring 100, T hopt yov can (oMl

Joo g}ﬁi%H VS .

sufficient detail to merit a score of 3.

The general vocabulary used is appropriate, as seen in movies and all of our
friends, but the text does not include enough evidence of specific vocabulary to
merit a score of 3.

Comprehensibility is not impeded by syntactic errors, but the writing is limited to

simple text, which is characteristic of a 2.

[ref: 912 PartA Train 2A]
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Score 3: Sample B

Event Dardy
First write down the Who —
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Rationale:

Characteristic of a score of 3, The writing demonstrates emerging complexity
used to provide detail, as seen in the first sentence, I 'm writing you because my
friend and I will have a party next Monday. However, the writing lacks cohesion
and clarity when referring to the need for more money. For that reason, it does not

merit a score of 4.

The text includes some content-specific vocabulary, such as celebrate, and
birthday. The writing would need to include more technical vocabulary in order

to merit a score of 4.
Errors do not impede comprehensibility.

[ref: 912 PartA Train 3A]
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Example 2 Benchmarks

Score 2: Sample A

B \Write a paragraph clearly explaining how Cathy scived the problem. You can pretend you are

' Cathy and wrile your paragmph using " instead of she.

3 ‘h-\— T haw Yo Cind He @CI(L ard e
J\'O'\rd\ '71& @:fcem{cme_ eq._dls(? /401_0\ &r\mex
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47}-"66(74’\1&\;[@ |

Rationale:

The majority of the writing is a simple description of the presented math
sentences. Although an attempt at organization can be seen with transition words
such as first, then, and after that, there is little attempt at original writing. A lack
of original writing is characteristic of a score of 2.

Only general vocabulary is used (e.g., times, equal). Lack of vocabulary is evident
partly due to lack of original writing.

The writing is generally comprehensible because most of the writing is a direct
copy or a simple description of the math sentences.

[ref: 912 PartB Bench 2A]
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Score 3: Sample A

To_Sdlve ¢, Hhe percentage. I iy

_%.CLMK_-{;G_{HJ_&I&J then mu(fl‘?lfgé/
it by 106 WheaT gt the anser x roled
Hhe decimal oint tun plactys | +hen

 ___winte Mmy percentase ,

Rationale:

The writing has simple and expanded sentences that show emerging complexity

(e.g. successful use of ‘when’-clause). Such writing is characteristic of a score of
3.

General and some specific language is used (e.g., divide, multiply, decimal point).
The writing is generally comprehensible.

[ref: 912 PartB Bench 3A]
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Score 3: Sample B

Write & paragragh clearly explaining how Cathy solved ithe problem. You can pretend you are
Cathy and write your paragraph using 1" instead of she.

-rmm@m %ot ol and seton o el
Wd\m _

Rationale:

The writing has simple and expanded sentences that show emerging complexity
used to provide detail, as required for a score of 3. Successful use of then and also
shows the attempt at complexity and providing detail.

General and some specific language is used (e.g., multiply, equation).
The writing is generally comprehensible.

[ref: 912 PartB Bench 3B]
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Score 4: Sample A

Write a paragraph clearly explaining how Cathy solved the problem. You can pretend you are

Cathy and write your paragraph using “I" instead of she.

Z Sd,wj @ipf‘/gé/fm e ﬁ:'na/ outT ’pa’f‘f(eﬂ'fd?e,
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the total of 25. So the total of &0 Pefcfnf‘woa/s

20ver Fotd Fomec 0015 25 T had ,25

74:/&4)44" 4pd T got 20 colrect. Sqthe .pgrmirye
of 20 WCr 25! s Yo,

Rationale:

As required for 4, The writing has a variety of sentence lengths of varying
Linguistic Complexity. Successful use of then and so shows emerging cohesion.

Specific and some technical language is used (e.g., formula, over).

Although the errors in the fourth sentence (The pecentages are 80 equals part is
20 and ...) stand out, they seem to be due to the lack of punctuation rather than
the lack of the student’s control in language. Errors in the writing don’t impede
comprehension of the student’s overall meaning.

[ref: 912 PartB_Bench 4A]
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Score 4: Sample B

&ﬂ'_]ﬂﬂ }gh_ Afe “l'-r ’

Rationale:

The writing has a variety of sentence length of varying Linguistic Complexity,
characteristic of a score of 4. Emerging cohesion is also evident with the use of
transition words and a concluding sentence.

Specific and some technical language is used. (e.g., multiple, plug in, balance
out).

Errors don’t impede the overall meaning of the writing.

[ref: 912 PartB Bench 4B]
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Score 5: Sample A
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Write a paragraph clearly explaining how Caihy solved the prablem. You car pratend you ar
Cathy and write your paragraph using ‘1" instead of she.

Rationale:

The writing shows a variety of sentence length of varying Linguistic Complexity
in an organized paragraph, as required for a score of 5. There are successful
compound sentences and complex sentences (e.g., After that, I would multiply 100
[and] 20[,] which will give me 2000; So you can conclude that Sam got 20 out of
25...). The paragraph shows cohesion with an appropriate usage of transition
words.

Technical language is used (e.g., set the equation, cancel out, leave off).

The writing is approaching comparability to that of English proficient peers.
Errors don’t impede comprehensibility.

[ref: 912 PartB Bench 5A]
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Score 6: Sample A

Write a paragraph clearly explaining how Cathy sclved the problem. You can pretend you are

Cathy and write your paragraph using “I" instead of she.
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Rationale:

The writing has a variety of sentence lengths of varying Linguistic Complexity in
a tightly organized paragraph, thus meriting a score of 6.

The writer demonstrates a consistent use of just the right word in just the right
place.

The writing has reached comparability to that of English proficient peers
functioning at the “proficient” level in state-wide assessments, as required for a
score of 6.

[ref: 912 PartB Bench 6A]
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Example 2 Training Papers

Score 2: Sample A

W \rite @ paragraph dearly explaining how Cathy soived the problem. You can pretend you are

| Cathy and write your paragiaph using *1" instead of she.
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Rationale:

The writing shows an attempt at simple and expanded sentences (e.g., I figered
out that Sam had...; he got 80% because he missed four...), a characteristic of a
score of 3. The beginning is clearly beyond phrases and short sentences.

However, language is limited to general vocabulary; math language (e.g., equal,
multiply) is missing.

The writing is generally comprehensible, but it displays little Language Control
toward the end of the writing; it is merely connecting math sentences with and
and then.

Although The writing shows strength in Linguistic Complexity, its Vocabulary
Usage and Language Control does not fully support a score of 3, and thus the
writing is scored 2.

[ref: 912 PartB_Training 2A]
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Score 3: Sampl_e A ._

Write a paragraph clearly explaining how Cathy solvad the problem. You can pretend you are

Cathy and write your paragraph using "I” instead of she. B
Cirst’  She gujggeﬂec H\e gacg_iem.
Sea:md he muiiiol '
_gdve k:m 2006,
Th:{‘d he di R o
%) and oo{' hiy @nswem of

o) nvesfmm‘

Rationale:

As required for 3, the writing has simple and expanded sentences that show
emerging complexity, plus it uses a variety of transition words (i.e., first, second,

third).
General language related to math is used (e.g., multiply, divide).

The writing shows good control over language. It is comprehensible and has very
few errors.

Although the writing is weak in vocabulary, its language complexity and control
support a score of 3.

[ref: 912 PartB Training 3A]
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Score 4: Sample A

| Write 2 paragraph clearly expiaining how Cathy salved lhe problem. You car pretend you are

Cathy and write your paragraph using 'I" instead of she.
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Rationale:

The writing has a variety of sentence lengths and there is emerging cohesion, as
required for 4.

Specific and some technical language is used (e.g., formula, plug in, multiply,
divide).

Although the writing is generally comprehensible, some mechanical errors (e.g.,
lack of correct punctuation) impede comprehensibility.

This is a weak 4 paper.
[ref: 912 PartB Training 4A]
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